

Letting:

Florida Department of Transportation

03/24/2023

Page 1 of 1

Vendor Ranking

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

TURNPIKE

Project(s): 43210217207 (*)

Contract Desc: SEAGRAPE TRIMMING - MIAMI-DADE & BROWARD

08230314

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$147,068.00	100.00% Into	ent to AWARD
2	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$151,190.00	102.80%	
3	ALEXANDER DESIGN + BUILD, LLC	Responsive	Non-Winning Bid	\$157,620.00	107.17%	
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$165,500.00	112.53%	
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$202,450.00	137.66%	
6	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$236,200.00	160.61%	
	GECOFL LLC	Non Responsive	Non-Winning Bid			

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MARCH 28, 2023 4:00 PM



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 08230314 March 14, 2023 **Call Order:** 005 **Contract:** E8U33-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, TURNPIKE

Project(s): 43210217207 (*)

Contract Descr: SEAGRAPE TRIMMING - MIAMI-DADE & BROWARD

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform manual and mechanical trimming/power shearing of Seagrapes and other trees as directed by the Engineer. Access to some locations is very limited (canal banks, slopes, along ditch line and on/off ramps) and specialized equipment may be required at some job sites. Work sites are at various locations on the Homestead Extension of Florida's Turnpike (SR 821), MP 0.0 to 12.5, and Florida's Turnpike (SR 91), MP 0.0 to 73.0.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate Quan Item Description Unit		(1) T & M LAWN-FENCE SERVICE INC		(2) T.T.C. ENVIRONMENTAL, INC.		(3) ALEXANDER DESIGN + BUILD, LLC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH							
0005 0107 1 LITTER REMOVAL	34.000 AC	1.00000	34.00	10.00000	340.00	55.00000	1,870.00
0010 E580336 4 PRUNING AND TRIMMING (TREES AND SHRUBS)	30.000 PM	4,900.00000	147,000.00	5,000.00000	150,000.00	5,050.00000	151,500.00
0015 E580337 6 HERBICIDE (HAND APPLICATION)	34.000 AC	1.00000	34.00	25.00000	850.00	125.00000	4,250.00
0001 TREE TRIMMING AND Section REMOVAL (MH)		\$147,068.00		\$151,190.00		\$157,620.00	
Contract Grand	Totals:		\$147,068.00		\$151,190.00		157,620.00



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting	: 08230314	March 14, 2023	3 Cal	l Order: 005		Contract:	E8U33-R0	
	Line No / Item ID Alternate Quantity Item Description Units		(4) MIDWESTERN CONSTRUCTION, INC		(5) SUPERIOR LANDSCAPING & LAWN SE		(6) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	
() indic	cates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
	0107 1 REMOVAL	34.000 AC	250.00000	8,500.00	65.00000	2,210.00	50.00000	1,700.00
	E580336 4 G AND TRIMMING (TREES i)	30.000 AND PM	4,950.00000	148,500.00	6,601.00000	198,030.00	7,250.00000	217,500.00
	E580337 6 DE (HAND APPLICATION)	34.000 AC	250.00000	8,500.00	65.00000	2,210.00	500.00000	17,000.00
000	1 TREE TRIMMING AND S REMOVAL (MH)	ection Totals:		\$165,500.00		\$202,450.00		\$236,200.00
	Contract G	rand Totals:		\$165,500.00		\$202,450.00		236,200.00



Florida Department of Transportation

03/24/2023

Tabulation of Bids

Page 3 of 3

Letting: 08230314

March 14, 2023

Call Order: 005

Contract:

E8U33-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.